VILLAGE OF BRADLEY

RESOLUTION NO. R-05-24-02

A RESOLUTION ACCEPTING BID IN CONNECTION WITH THE 2024 CURB & SIDEWALK CONCRETE PROGRAM

ADOPTED BY THE BOARD OF TRUSTEES OF THE VILLAGE OF BRADLEY

THIS 13th DAY OF May, 2024

RESOLUTION NO. R-05-24-62

A RESOLUTION ACCEPTING BID IN CONNECTION WITH THE 2024 CURB & SIDEWALK CONCRETE PROGRAM

WHEREAS, the Corporate Authorities of the Village of Bradley, Kankakee County, Illinois, have the authority to adopt resolutions and to promulgate rules and regulations that pertain to its government and affairs and protect the public health, safety, and welfare of its citizens; and

WHEREAS, on or around April 17, 2024, the Village published an advertisement for bids for the 2024 Curb & Sidewalk Concrete Program (the "Project"); and

WHEREAS, the Village opened and reviewed all bids received in relation to the Project on May 7, 2024; and

WHEREAS, the Corporate Authorities of the Village have determined that Kankakee Valley Construction Co. Inc., (KVCC) was the lowest responsible bidder of the respective project; and

WHEREAS, the Corporate Authorities of the Village have determined that it is necessary, expedient, and in the best interests of the Village and its citizens to accept the bid from Kankakee Valley Construction Co. Inc., (KVCC) in the total amount of seven hundred ninety three thousand two hundred fifty three and 00/100 (\$793,253.00) for the 2024 Curb & Sidewalk Concrete Program (a copy of the bid tabulations is attached hereto as Exhibit A and fully incorporated herein); and

NOW THEREFORE, BE IT RESOLVED BY THE CORPORATE AUTHORITIES OF THE VILLAGE OF BRADLEY, KANKAKEE COUNTY, ILLINOIS, PURSUANT TO ITS STATUTORY AUTHORITY, AS FOLLOWS:

SECTION 1. The Corporate Authorities hereby find that all of the recitals contained in the preamble to this Resolution are true, correct, and complete and are hereby incorporated by reference hereto and made part hereof.

SECTION 2. The Corporate Authorities of the Village hereby find and declare that the bid received by KVCC for the 2024 Curb & Sidewalk Concrete Program, a copy which is attached hereto as Exhibit A and incorporated herein, is fair, reasonable and acceptable to the Village and hereby awards said contract to Kankakee Valley Construction Co. Inc. for the amount of seven hundred ninety-three thousand two hundred fifty three and 00/100 (\$793,253.00)

SECTION 3. The Corporate Authorities of the Village hereby authorize and direct the Village President to take any actions necessary to effectuate the intent of this Resolution, which is to accept the bid for the Project and to award the vendor the contract bid.

SECTION 4. In the event that any provision or provisions, portion or portions, or clause or clauses of this Resolution shall be declared to be invalid or unenforceable by a Court of competent jurisdiction, such adjudication shall in no way affect or impair the validity or enforceability of any of

the remaining provisions, portions, or clauses of this Resolution that may be given effect without such invalid or unenforceable provision or provisions, portion or portions, or clause or clauses.

SECTION 5. All ordinances, resolutions, motions, or parts thereof, conflicting with any of the provisions of this Resolution, are hereby repealed to the extent of the conflict.

SECTION 6. The Village Clerk is hereby directed to publish this Resolution in pamphlet form.

<u>SECTION 7.</u> This Resolution shall be in full force and effect from and after its passage, approval, and publication in pamphlet form as provided by law.

[Intentionally Blank]

PASSED by the Board of Trus	stees on a roll call vote on	the 13thday of May	, 2024.
TRUSTEES:		0	
RYAN LEBRAN BRIAN BILLINGSLEY DARREN WESTPHAL BRIAN TIERI GRANT D. VANDENHOUT GENE JORDAN	Aye – V Na Aye – V Na Aye – Na	Absent –	•
VILLAGE PRESIDENT:			
MICHAEL WATSON	Aye – Nay –	Absent	
TOTALS:	Aye - 5 Nay - 4	Absent	
ATTEST: KELLI BRZA, VILLAGE CL	ERK		
APPROVED this 1344 day	of May, 2	024.	
	MICHAEL WATSON,	Vatson VILLAGE PRESIDENT	-
ATTEST: KELLI BRZA, VILLAGE CL	PŘK .		,

STATE OF ILLINOIS)	
)	§§
COUNTY OF KANKAKEE)	

I, Kelli Brza, Village Clerk of the Village of Bradley, County of Kankakee and State of Illinois, DO HEREBY CERTIFY that the attached is a true, perfect, and complete copy of Resolution number "A RESOLUTION ACCEPTING BIDS IN CONNECTION WITH THE 2024 CURB & SIDEWALK CONCRETE PROGRAM" which was adopted by the Village Corporate Authorities at a meeting held on the 1344 day of 1024.

IN WITNESS WHEREOF, I have hereunto set my hand in the Village of Bradley, County of Kankakee and State of Illinois, on this 244 day of May 2024.

ELLI BRZA, VILIAGE ELERK

(SEAL)

EXHIBIT A



Item

Unit
SQ FT
FOOT
SQ YD
SQ FOOT
SQ FT
FOOT
SQ FT
SQ YD
EACH
EACH
EACH

Pavement Patching Type I
60260100 Inlets to be Adjusted
Inlets to be Adjusted with new Frame & Grate
60255500 Manhole Adjustment

Mailbox Relocation

ocal Public Agency:	Village of Bradley		Project Name:	2024 Curb & Sidewalk Program
	Kankakee		Project No:	M2-340
Date & Time	5/7/2024	10:15:00 AM	Attended By:	Joel Greer, Pat Lovell, Scott Williams
Estimate:	\$802.076.00			Matt Strough, Hector Villa

\$793,253.00

		Name of Bidder:			y Cor	struction Co., Inc	Gallagher Asph	alt Co	rporation
	Address of Bidder:					18100 S. Indiana Ave. Thorton, IL 60476			
	Proposal Guarantee:		Bid Bond			Bid Bond			
			Tems:					_	
	Approved Engineer's Estimate								
Quantity	Unit Price		Total	Unit Price		Total	Unit Price		Total
12300	\$2.50	\$	30,750.00	\$3.25	S	39,975.00	\$3.00	S	36,900.00
3716	\$8.00	\$	29,728.00	\$8.00	\$	29,728.00	\$25.00		92,900.00
782	\$25.00	S	19,550.00	\$26.00	5	20,332.00	\$40.00	5	31,280.00
600	\$25.00	S	15,000.00	\$33.00	5	19,800.00	\$35.00	S	21,000.00
400	\$25.00	5	10,000.00	\$33.00	S	13,200.00	\$40.00	5	16,000.00
15630	\$13.00	5	203,190.00	\$13.50	5	211,005.00	\$12.00	\$	187,560.00
782	\$155.00	\$	121,210.00	\$128.00	S	100,096.00	\$85.00	\$	66,470.00
400	\$175.00	S	70,000.00	\$142.00	S	56,800.00	\$86.00	\$	34,400.00
26268	\$1.00	s	26,268.00	\$2.00	5	52,536.00	\$1.25	\$	32,835.00
2900	\$50.00	\$	145,000.00	\$42.00	S	121,800.00	\$45.00	\$	130,500.00
816	\$55.00	S	44,880.00	\$65.00	S	53.040.00	\$65.00	\$	53,040.00
140	\$75.00	S	10,500.00	\$82.00	5	11,480.00	\$85.00	5	11,900.00
460	\$40.00	S	18,400.00	\$32.00	\$	14,720.00	\$30.00	5	13,800.00
244	\$100.00	S	24,400.00	\$89.00	\$	21,716.00	\$150.00	\$	36,600.00
20	\$110.00	\$	2,200.00	\$109.00	S	2,180.00	\$350.00	S	7,000.00
6		S	3,000.00	\$460.00	\$	2.760.00	\$600.00	\$	3,600.00
6		\$	9,000.00	\$960.00	S	5,760.00	\$1,300.00	\$	7,800.00
5	\$500.00	5	2,500.00	\$460.00	S	2,300.00	\$900.00	\$	4,500.00
33	\$500.00	\$	16,500.00	\$425.00	S	14,025.00	\$500.00	S	16,500.00
		\$			S			\$	
	The state of the s	-	A. O. d	Contract of the last of the la		6700 070 00		pursua, ma	CONA EGE O

As Read:



\$804,585.00

Item No.